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Part II. Q 15. Additional information: 

 

A shareholder will divide the total adjusted basis in shares of the Company’s common stock held 

before the dividend by the number of shares of the Company’s common stock owned after the 

dividend and subsequently adjusted for cash paid in-lieu of fractional shares.   

  

Example:  Before the dividend, a shareholder owns 205 shares of the Company’s common stock 

with an adjusted basis of $18.00 per share, resulting in a total adjusted basis of $3,690.00.  After 

the stock dividend, the shareholder received 4 additional shares of common stock plus cash paid 

in-lieu of .1 fractional shares (205 X 2% = 4.1 additional shares).  The adjusted basis per share 

would be computed by the following steps: 

  

• ($3,690.00 adjusted basis / 209.1 shares after the dividend) = $17.65 basis per share 

• .1 fractional shares redeemed for cash 

• Remaining basis in 209 shares = $17.65 X 209 shares = $3,688.85 total remaining 
adjusted basis 
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